culus 251:C3  Quiz #22 - 7/13/2021 Topic: Section 16.4

Instructions. Answer the questions in the spaces provided or on your own paper, t
scan and upload to Canvas. Show and label all of your work. Responses with no work
receive no credit even if the answer is correct.

(1) Let F = (e* — y,y +sina), and let D be the region enclosed by the triangle with

vertices (0,0), (2,0), and (2,2). Verify the Circulation-Curl Form of Green’s Theorem,
oF, O0R

i.e. show that fwﬁ-ﬁ: / fD (% _ a_y) dA.
LHS Hint: The right hand side is an easier setup. The left hand side is easier to integrate. '
Darcd Computatov, . . .

Cl: r,(t)——<b/o>, f:éfo)z'] (R(e) “<@t) Ga b > !
f(6) =<y, 0> Fw)) m >
C,: T,(6)=<1,t>, telo2]) FC?Z(&))—\@ b b shiz?
a6 =£0,17 F(AL8) -7 (8) = t*Sm
) =(2t 2+ f(?’(b))—(e S pe et 6D q
G -C, 1> F(7(0) T8 = - ‘:z L2+t —sin(2-t) = =gl L (l_g)E

Ma"&'edclu tefolj Sa T can s omine bt o .ome [’l"?j"qf

f ot j [e L) =of R (2-t) ] AC [e 1'" et e’ _m z—t)]

(e ‘rl—rlsmz"’l—’) (l*o*o“'c "'OSZ) 25!'\2‘\"-0521”

RH} QF QF ‘y’x ar—xgzl

- C0f$
v xrl 0%}&

95 "L)/{A J-f (u;xfl 4 Jx-f [1wsx-r73 —de

‘ﬂ!tﬁ)lx T e e e e RS oo _____

¢

RS L R o pancllt g e

G 0o
1 4y

Scanned with CamScanner



